Three pigs

(Kristina Hrobdrova)

. Once there were three pigs. They had
b{ fifteen brothers, whose left. How many
. pigs were there? Three pigs had to build
houses for living because they were afraid
of wolf. The first pig built his house from
straw. This pig needed 148 kg of straw. It
already had 89 kg of straw. How much did
it still need? This house wolf blew down.
The second pig built his house from wood, but wolf blew it
down too. The third pig built his house from bricks. This
house weighed 10680 kg and house from straw weighed
0,148 +. How much is this house heavier than house from
straw? This house wolf didn”t blow down and all pigs moved
into this house. They had 36 friends, that is 40% of
inhabitans in a village. How many inhabitans are there in a
village? Wolf tried to catch pigs for 39 years, what is 60 %
from his life. How many years did the wolf live? But he
didn”t catch them.
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